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1 (Sem-2) STA
2025

STATISTICS
Paper : STA0200104

(Correlation and Regression, Probability
Distributions, Statistical Inference-I
and Finite Difference)

Full Marks : 45
Time : 2 hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions : 1x5=5

R 2RI bl i g

(@ r,=0=X and ¥ are independent.
(True or False)
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(b) The lines of regression of Yon Xand X

on Y intersect at the point : 2. Answer any five ‘from the following
: questions : 2x5=10

AT ([ Y9 8 g8

T X AR X eoe O PRI e “Ash1T Sestra o

Y 1 3016t Reveot 27 ¢

6 (©,0) ' L . (a) Define partial and multiple correlation.

G (1,1 SRMT % TR AR e @i

(i) (J—C 7) ‘ (b) Find the mean of Poisson distribution.

| 5 3T Mg [ 1)
) 1, +1) .
(Choose the correct option) (c) Prove that correlation coefficient is the
(8% Cewrhr o 91) geometric mean between two regression

coefficients.

() What is the relationship between mean AN T (T TDTTR NP T NS AT
and variance of Poisson distribution ? TR STeRT T4 |

405 3% TG T AR TS FE e .
(d) What do you mean by categorical data ?

(d) The probability of type I error is Also define classes and class
. (Fill in the blank) | frequencies.
APTTN-RAE Ty Toile 2 | | Categorical % IF & @iz @ft wis
o (N ARITOR e |
(AT 32 939 ) - |

(e) State Newton’s forward interpolation
L formula.

oRS SHerEH Sz sgaht forat

(e) " Define the operators A and E.
A 9% E-S ket |
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(9)

()

(1)

0l

Find AZ (ae"), if h=1

A*(ae* )3 T Sferedl, A h=1 |

Write a note on Association between
two attributes A and B.

A OI% B @l YOR WA AR 8998 5
Coizet feTall |

Show that for binomial distribution
mean is greater than variance.

(e @ oW ITTR CFTO WY AARTS (F

Tled |

Define normal distribution. Under whai
conditions Binomial distribution tends
to normal distribution ?

Ry 361 i@l [l [ vde faelw 3%
SRy AT 9IS e
Define critical region.

Gifee s A Wl

BO2FN 0052 4

3. Answer any four questions :

5x4=20

wore MAIRIT fAcea oif<eorT O a2

(a)

(b)

(c)

(d)

Define :

e Al 8

(i) Hypothesis
o

(i) Null hypothesis
e a7

(iij) Alternative hypothesis
Ren oo

Write down the important properties of
normal distribution.

AR AT 4N TR i

Define Poisson distribution. Find the
mean and variance of the distribution.
6 ITTR @ W | ITIBR AP AE 2R
A =11

Describe how the goodness of fit can
be tested by using y2 statistic.

22 2AfofER Bl T e vl SIS
R AR @ =1
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(e) Describe F-test for testing of equality

(9)

(h)

of two population variance.

7o IR AR IO SIPH AR F-AF=ICH!
7 41|

Why there are two regression lines ?
Find out the angle between two lines of
regression.

75 TR (I R IR 2 TR Gt 75

- Were (PO TN Sieea |

Prove that correlation coefficient is
independent of change of origin and
scale.

N I (T TR ST FIRY S 5o
(GIRT (T3] 8IS NS w=F |

Write down the general quadrature
formula and then obtain the Simpson’s

%— rule.

RAE SFeTE AL A Tl o o
ol Bt L et s St
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4. Answer any one question from the

following : ' 10x1=10
were il eI R @b Yes o ¢

(@) (i) Define Rank Correlation. Derive
the Spearman’s Rank correlation

coefficient. 1+5=6
i IR el frd | oRIRTE 2
TRl e

(i) Given that the lines of regression
are x+2y—-5=0 and
2x +8y -8 =0 and the variance of
x is 12. Find %, 3, 0 and 7.
4
AT @A O x+2y-5=0 S
2x +8y—8=0 % x-I WA 12 Fa

ME| X, Gy 0 O 1,3 W el

(b) (i) Write down the chief
characteristics of the Normal

Distribution and Normal Curve.
S

A 357 OF LAARY (R Y

P 2
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(i) Find mean and variance of
binomial distribution. S

77 3%4T Y S 2R Sienear |

(¢ (i) Define interpolation. State and
prove Lagrange’s interpolation

formula. 7
TGN TR 7| ANGI STBE
FAce! o7l s el 51t |

(ii) Find the missing value of f(2) from
the following data : 3
©eTo BEd I O 2Rl £(2)-3 W [Nefm
B I

x 12 3 4

f(x) : 2 = 7 32

(d) Define y2. Derive expression for 2 in
the contingency table.

127 Age fordt | 2x2 FAOACEAD ©ifereR 1=t
229 AR I§F 7R =01

al|b
cld

Write two uses of x2.

723 7Y ARRR
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